| Efficiency vs Dxy |
>1.2
X

=
!
.

efficiency vs d

o
©
[

o
o))
[

o
~
[

o
[N)
I

J_.Q ||||;| ||;| 1

Ratio

s AR

1---- o d 3 B S 111 11 T O WY SR Peeemes

_25°20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO

V4
=
N

—«— DQM_V0001_R000000001__ Global _mkFitNewTEST1000time__RECO

=
!
.
.

efficiency vs d

o
©
[

.....................................................................

.....................................................................

o
o))
[

I -

Ratio

TP dz (cm)



	Contents
	Page 1


